SUPERWINCH'  TIGER SHARK

MEDIUM FRAME
TIGER SHARK
SERVICE PARTS

CONTENTS

TIGER
SHARK
35005R

TIGER TIGER
SHARK SHARK
11500 115005R

DESCRIPTION PART NUMBERS

5 Contactor 90-32492 90-32492 90-32492 90-32492

1,4 Control Box Housing 90-41436 90-41436 90-41436 90-41436

12, 13, 14, 15,
Manual Clutch 90-24571 90-24571 90-24571 90-24571

16, 17, 18 Assembly

19, 20, 21, 22,

23 24 25 26, | 12V Winch Motor 90-32513 90-32513 90-32514 90-32514
Assembly

30

3 Remote Socket 90-24573 90-24573 90-24573 90-24573
Assembly

9.20,22,24, | small Parts Kit

25,28.30,33 | (Includes Brake) 90-41438 90-41438 90-41438 90-41438
Circuit Breaker

N/A (Not Shown) 2124800 2124800 2124800 2124800
Fairlead, Roller

N/A (Not Shown) 90-32493 N/A 90-32493 N/A

N/A Fairlead, Hawse N/A 90-24572 N/A 90-24572
(Not Shown)
Rope, Steel Cable

N/A Wire (Not Shown) 90-24575 N/A 90-24576 N/A
Rope, Synthetic

. (N6t Shaan) N/A 90-24595 N/A 90-24595

Wired Remote
N/A Control 2274 2274 2274 2274

(Not Shown)

121222 | RevA


https://www.superwinch.com/en/products/superwinch/tiger-shark-9500-12v-9500-lb-wire-rope-winch-1595200
https://www.superwinch.com/en/products/superwinch/tiger-shark-11500sr-12v-11500-lb-synthetic-rope-winch-1511201
https://www.superwinch.com/en/products/superwinch/tiger-shark-11500-12v-11500-lb-wire-rope-winch-1511200
https://www.superwinch.com/en/products/superwinch/tiger-shark-11500sr-12v-11500-lb-synthetic-rope-winch-1511201
90-32492
https://www.superwinch.com/en/products/superwinch/solenoid-tiger-shark-9500-11500-winch-90-32492
https://www.superwinch.com/en/products/superwinch/solenoid-tiger-shark-9500-11500-winch-90-32492
https://www.superwinch.com/en/products/superwinch/solenoid-tiger-shark-9500-11500-winch-90-32492
https://www.superwinch.com/en/products/superwinch/solenoid-tiger-shark-9500-11500-winch-90-32492
https://www.superwinch.com/en/products/superwinch/solenoid-box-assembly-tiger-shark-9500-11500-winch-90-41436
https://www.superwinch.com/en/products/superwinch/solenoid-box-assembly-tiger-shark-9500-11500-winch-90-41436
https://www.superwinch.com/en/products/superwinch/solenoid-box-assembly-tiger-shark-9500-11500-winch-90-41436
https://www.superwinch.com/en/products/superwinch/solenoid-box-assembly-tiger-shark-9500-11500-winch-90-41436
https://www.superwinch.com/en/products/superwinch/clutch-handle-tiger-shark-9500-11500-winch-90-24571
https://www.superwinch.com/en/products/superwinch/clutch-handle-tiger-shark-9500-11500-winch-90-24571
https://www.superwinch.com/en/products/superwinch/clutch-handle-tiger-shark-9500-11500-winch-90-24571
https://www.superwinch.com/en/products/superwinch/clutch-handle-tiger-shark-9500-11500-winch-90-24571
https://www.superwinch.com/en/products/superwinch/winch-motor-tiger-shark-9500-12v-winch-90-32513
https://www.superwinch.com/en/products/superwinch/winch-motor-tiger-shark-9500-12v-winch-90-32513
https://www.superwinch.com/en/products/superwinch/winch-motor-tiger-shark-11500-12v-winch-90-32514
https://www.superwinch.com/en/products/superwinch/winch-motor-tiger-shark-11500-12v-winch-90-32514
https://www.superwinch.com/en/products/superwinch/remote-socket-tiger-shark-9500-11500-winch-90-24573
https://www.superwinch.com/en/products/superwinch/remote-socket-tiger-shark-9500-11500-winch-90-24573
https://www.superwinch.com/en/products/superwinch/remote-socket-tiger-shark-9500-11500-winch-90-24573
https://www.superwinch.com/en/products/superwinch/remote-socket-tiger-shark-9500-11500-winch-90-24573
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-41438
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-41438
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-41438
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-41438
https://www.superwinch.com/en/products/superwinch/circuit-breaker-2124800
https://www.superwinch.com/en/products/superwinch/circuit-breaker-2124800
https://www.superwinch.com/en/products/superwinch/circuit-breaker-2124800
https://www.superwinch.com/en/products/superwinch/circuit-breaker-2124800
https://www.superwinch.com/en/products/superwinch/roller-fairlead-tiger-shark-9500-11500-winch-90-32493
https://www.superwinch.com/en/products/superwinch/roller-fairlead-tiger-shark-9500-11500-winch-90-32493
https://www.superwinch.com/en/products/superwinch/hawse-fairlead-tiger-shark-9500-11500-winch-90-24572
https://www.superwinch.com/en/products/superwinch/hawse-fairlead-tiger-shark-9500-11500-winch-90-24572
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-tiger-shark-9500-talon-95-125-winch-90-24575
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-tiger-shark-11500-winch-90-24576
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-tiger-shark-9500-11500-winch-90-24595
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-tiger-shark-9500-11500-winch-90-24595
https://www.superwinch.com/en/products/superwinch/remote-control-tiger-shark-9500-11500-lp8500-lp10000-ut3000-winch-2274
https://www.superwinch.com/en/products/superwinch/remote-control-tiger-shark-9500-11500-lp8500-lp10000-ut3000-winch-2274
https://www.superwinch.com/en/products/superwinch/remote-control-tiger-shark-9500-11500-lp8500-lp10000-ut3000-winch-2274
https://www.superwinch.com/en/products/superwinch/remote-control-tiger-shark-9500-11500-lp8500-lp10000-ut3000-winch-2274

SLUPERWINCH

TIGER SHARK

9500, 9500SR, 11500, 11500SR

GENERAL ASSEMBLY
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 N/A SCREW, PHILLIPS PAN HEAD 4
2 N/A SCREW, PHILLIPS FLANGED HEAD 2
3 90-24573 REMOTE SOCKET ASSEMBLY 1
4 N/A CONTROL BOX BASE 1
5 90-32492 12V WINCH SOLENOID 1
6 90-32491 BUSS BARS 1
7 N/A SCREW, M8-1.25 X 25MM CAP HEAD 4
8 N/A WASHER, M8 SPRING 4
9 1710200-11-10 DRUM-BEARING 2
10 1595200-3 TIE BAR, ROUND 2
1" N/A WASHER, M4 SPRING 10
12 N/A O-RING, CLUTCH SMALL 1
13 N/A O-RING, CLUTCH LARGE 1
14 N/A CLUTCH HANDLE 1
15 N/A CLUTCH SPRING 1
16 N/A CLUTCH PIN 1
17 N/A CLUTCH BASE 1
18 N/A SCREW, M6-1.0 X 10MM SET 1
19 N/A SCREW, MOTOR 2
20 90-42660-3 O-RING, MOTOR BOLT 2
21 N/A LID, MOTOR END 1
22 90-41438-12 O-RING, MOTOR 1
23 N/A MOTOR, STATOR 1
24 1710200-11-6 BALL BEARING 1
25 1710200-11-7 GASKET, MOTOR-DRUM SUPPORT 1
26 90-42638 DRUM SUPPORT, MOTOR END 1
27 90-42639 DRUM 1
28 1710200-11-9 GASKET, DRUM SUP-DRUM 2
29 90-24596 DRIVE SHAFT 1
30 90-32512 BRAKE 1
31 N/A SCREW, M4-0.7 CAP HEAD 10
32 90-41433 DRUM SUPPORT, GEARBOX END 1
33 90-41438-11 GASKET, GEARBOX 1
34 90-41432 GEARBOX ASSEMBLY 1

121222 | RevA



TIGER SHARK

9500, 9500SR, 11500, 11500SR
GENERAL ASSEMBLY

SLUPERWINCH

N7
P
e ='n g!_\ll‘\\
P 1
=
1

B

Tiger Shark 9500/9500SR/11500/11500SR

121222 | RevA



